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In the Magnetic Field experiment, let the magnetic fields of Earth and the coil be H: and He, respectively. The compass and
galvanometer are initially set up before turning the power supply on. After turning the power supply on, the needle of the
compass deflects by an angle 8. Which of the following is true when performing the different steps of the experiment?

) a. The relation between the current in the coil and the total magnetic field is linear.

(0 b. The angle B and Hg are varied but Hg is constant.

) €. He is constant but H- and B vary.

C} d. The angle 8 and the current in the coil are varied, but Hz and He are constant.

) e. He and He are constant but 8 varies.
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Question 3 In the Magnetic Field of a Current experiment, when we decrease the current in the coil, which of the following is
Notyet true?

answered

MokoR el O a. The direction of the magnetic field of Earth does not change but its magnitude decreases.

4.00

¥ Flag O b. The magnitude of the total magnetic field at the center of the coil increases but its direction does not
question change.

O c. The magnitude and direction of the coil's magnetic field at the center change.

O d. Both magnitudes of the magnetic fields of the coil and Earth decrease.

@® e. Both the total magnetic field at the center of the tangent galvanometer and the angle of deflection of
the compass decrease.
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